

Vendor Ranking

Page 1 of 1

 Letting:
 04211001
 October 01, 2021 10:30 AM
 Call Order: 002
 Contract: E4V05

 District:
 District 4
 Counties: MARTIN
 Fed Aid No: N/A

Contract Time: 126 AVAILABLE DAYS

Project(s): 44531515215 (*)

Contract Desc: MARTIN WEIGH STATION - SIGNING & PAVEMENT MARKINGS

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ALEXANDER DESIGN + BUILD, LLC	Non Responsive	Non-Winning Bid	\$658,559.13	100.00%
2	EMERALD COAST STRIPING, LLC.	Responsive	Winning Bid	\$676,628.09	102.74%
3	LEON AMERICA CONSTRUCTION,LLC	Non Responsive	Non-Winning Bid	\$745,556.56	113.21%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 10/26/21 BEGIN TIME: 10:30 AM END DATE: 10/29/21 END TIME: 10:30 AM





Tabulation of Bids

Page 1 of 7

 Letting:
 04211001
 October 01, 2021
 Call Order:
 002
 Contract:
 E4V05

 District:
 District 4
 Counties:
 MARTIN
 Fed Aid No:
 N/A

Contract Time: 126 AVAILABLE DAYS Project(s): 44531515215 (*)

Contract Descr: MARTIN WEIGH STATION - SIGNING & PAVEMENT MARKINGS

The Improvements under this Contract consist of, but are not limited to, signing (single post, multi-post, panel, electronic display, beacon) and pavement markings (raised, painted, thermoplastic, two-reactive component striping) at northbound (MP 3.4 to MP 4.8) and southbound (MP 23.0 to MP 24.1) weigh stations along State Road 9 (I-95) in Martin County.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

BUSINESS DEVELOPMENT INITIATIVE - Bidders must be a "Small Business" as defined by

FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at

https://www.fdot.gov/equalopportunity/bdi.shtm

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at:

https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department.

The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File

Attachment Upload" folder in the AASHTOWare Project Bids application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

PROPOSAL BID GUARANTEE: On proposals over \$150,000, a Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, made payable to the Florida Department of Transportation, the BDI

Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Item Description		ntity	(1) ALEXANDE BUILD		(2) EMERAL STRIPIN		` '	AMERICA ICTION,LLC
() indicates item is bid as Lu	ımp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadwa	ay						
0005 0101 1 MOBILIZATION 4453151521	•	I.000) LS	35,000.00000	35,000.00	50,000.00000	50,000.00	50,000.00000	50,000.00



Page 2 of 7

Florida Department of Transportation



Tabulation of Bids

Letting	g : 0-	4211001	October 01, 202	21 Cal	l Order: 002		Contract:	E4V05	
	No / Item ID Description	Alternate	Quantity Units	(1) ALEXANDE BUILD		(2) EMERAI STRIPIN			AMERICA CTION,LLC
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0010 MAINTE 4453151	0102 1 ENANCE OF T 15215	RAFFIC	(126.000) DA (LS)	6,500.00000	6,500.00	10,000.00000	10,000.00	50,640.00000	50,640.00
0015 WORK 2	0102 60 ZONE SIGN		1,260.000 ED	0.30000	378.00	0.30000	378.00	0.32000	403.20
	0102 74 1 ELIZING DEV UM, OR LCD	ICE- TYPES I,	6,048.000 II, DI, ED	0.20000	1,209.60	0.20000	1,209.60	0.13000	786.24
	0102 99 BLE CHANGE EMPORARY	ABLE MESSAC	126.000 GE ED	14.00000	1,764.00	17.00000	2,142.00	11.00000	1,386.00
0030 TYPE III	0102115 I BARRICADE		252.000 ED	0.44000	110.88	0.50000	126.00	0.42000	105.84
0035 LITTER	0107 1 REMOVAL		67.060 AC	50.00000	3,353.00	30.00000	2,011.80	150.00000	10,059.00
0040 MOWIN	0107 2 G		62.740 AC	100.00000	6,274.00	30.00000	1,882.20	150.00000	9,411.00
	0999 25 CONTINGEN D 4453151521	CY AMOUNT, [5	(1.000) DO LS	32,349.28000	32,349.28	32,349.28000	32,349.28	32,349.28000	32,349.28
	000	01 Roadway S	ection Totals:		\$86,938.76		\$100,098.88		\$155,140.56





Tabulation of Bids

Page 3 of 7

Letting	g: 0	4211001	October 01, 2021	Cal	l Order: 002		Contract:	E4V05	
	No / Item ID Description	Alternat	e Quantity Units	(1) ALEXANDE BUILD		(2) EMERAI STRIPIN			AMERICA CTION,LLC
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002	Signing						
	0700 1 11 POST SIGN, , UP TO 12 SI	F&I GROUND	81.000 AS	395.00000	31,995.00	400.00000	32,400.00	500.00000	40,500.00
	0700 1 12 POST SIGN, , 12-20 SF	F&I GROUND	51.000 AS	1,300.00000	66,300.00	1,900.00000	96,900.00	1,500.00000	76,500.00
	0700 1 13 POST SIGN, 7, 21-30 SF	F&I GROUND	4.000 AS	1,950.00000	7,800.00	2,500.00000	10,000.00	2,000.00000	8,000.00
0065 SINGLE	0700 1 60 E POST SIGN,	REMOVE	118.000 AS	25.00000	2,950.00	50.00000	5,900.00	20.00000	2,360.00
	0700 2 12 POST SIGN, I 7, 12-20 SF	F&I GROUND	3.000 AS	3,675.00000	11,025.00	4,000.00000	12,000.00	3,500.00000	10,500.00
	0700 2 13 POST SIGN, I 7, 21-30 SF	F&I GROUND	3.000 AS	3,885.00000	11,655.00	4,700.00000	14,100.00	3,600.00000	10,800.00
	0700 2 14 POST SIGN, I 7, 31-50 SF	F&I GROUND	5.000 AS	4,650.00000	23,250.00	6,500.00000	32,500.00	4,100.00000	20,500.00
0085 MULTI-	0700 2 60 POST SIGN, I	REMOVE	12.000 AS	650.00000	7,800.00	1,000.00000	12,000.00	600.00000	7,200.00
		SH & INSTALL UP TO 12 SF	4.000 EA	270.00000	1,080.00	600.00000	2,400.00	360.00000	1,440.00



Page 4 of 7

Florida Department of Transportation



Tabulation of Bids

Letting:	04	211001 C	October 01, 202	21 Cal	l Order: 002		Contract:	E4V05	
	o / Item ID escription	Alternate	Quantity Units	(1) ALEXANDE BUILD		(2) EMERAI STRIPIN			AMERICA CTION,LLC
() indica	ates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
5	SECTION:	0002	Signing						
	700 3601 IEL, REMOVI	E, UP TO 12 SF	4.000 EA	50.00000	200.00	50.00000	200.00	50.00000	200.00
ELECTRON & INSTALL POWERED				11,000.00000	11,000.00	12,000.00000	12,000.00	10,000.00000	10,000.00
SIGN BEAG		ROUND MOUN NE BEACON	1.000 T- AS	5,000.00000	5,000.00	9,500.00000	9,500.00	200.00000	200.00
	706 1 3 AVEMENT N	IARKER, TYPE	1,440.000 B EA	3.50000	5,040.00	5.00000	7,200.00	5.00000	7,200.00
TRAFFIC S	ENTS, STAN	O REACTIVE DARD, WHITE W PROJECTS	4.750 GM	27,200.00000	129,200.00	15,489.81000	73,576.60	30,000.00000	142,500.00
TRAFFIC S COMPONE SOLID 8" F	ENTS, STAN FOR INTERC	D REACTIVE DARD, WHITE CH & URBAN PROJECTS	1.038 GM	32,000.00000	33,216.00	20,601.56000	21,384.42	29,000.00000	30,102.00
TRAFFIC S	ENTS, STAN " FOR CROS	D REACTIVE DARD, WHITE SSWALK, FOR	189.000 LF :,	7.89000	1,491.21	14.52000	2,744.28	12.00000	2,268.00



Page 5 of 7

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 0	4211001 (October 01, 20	21 Ca l	II Order: 002		Contract:	E4V05	
_	No / Item ID	Alternate	Quantity Units	(1) ALEXANDI BUILD		(2) EMERA STRIPIN			AMERICA CTION,LLC
	-	id as Lump Sum	· · · · · ·	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002	Signing						
COMPO SOLID,	18" FOR DIAC	NDARD, WHITE		10.63000	20,473.38	21.75000	41,890.50	15.00000	28,890.00
COMPO SOLID,	•	O REACTIVE NDARD, WHITE SSWALK, FOR	363.000 LF	13.36000	4,849.68	29.05000	10,545.15	20.00000	7,260.00
COMPO	0709 12135 IC STRIPE-TW DNENTS, STAI ", FOR MCSAI	NDARD, WHITE	0.240 GM	27,200.00000	6,528.00	15,489.81000	3,717.55	15,000.00000	3,600.00
COMPO		/O REACTIVE NDARD, YELLO AW PROJECTS		27,200.00000	95,526.40	15,489.81000	54,400.21	22,000.00000	77,264.00
COMPO SOLID,	18" FOR DIAC	NDARD, YELLO	·	10.63000	23,279.70	21.75000	47,632.50	15.00000	32,850.00
		Γ MARKINGS, V, ISLAND NOS	73.000 SF SE	25.00000	1,825.00	10.00000	730.00	11.00000	803.00
0160 THERM YIELD I		TANDARD, WHI	67.000 ITE, LF	20.00000	1,340.00	15.00000	1,005.00	38.00000	2,546.00





Tabulation of Bids

Page 6 of 7

Letting:	04211001	October 01, 20	21 Ca l	II Order: 002		Contract:	E4V05	
Line No /		nate Quantity Units	(1) ALEXANDI BUILD		(2) EMERA STRIPIN			AMERICA ICTION,LLC
() indicates	s item is bid as Lump Sເ	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0002	Signing						
	1 11421 ASTIC, STANDARD,	757.000 BLUE, LF	4.00000	3,028.00	15.00000	11,355.00	5.00000	3,785.00
THERMOPLA WHITE WITH	1 14560 ASTIC, PREFORMED I BLACK CONTRAST PAVEMENT, MESSA	ON	880.00000	7,920.00	500.00000	4,500.00	800.00000	7,200.00
THERMOPLA WHITE WITH	1 14570 ASTIC, PREFORMED I BLACK CONTRAST CONCRETE SURFA	- ´ ,	880.00000	4,400.00	500.00000	2,500.00	500.00000	2,500.00
THERMOPLA THERMOPLA	1 17 1 ASTIC, REMOVE EXI ASTIC PAVEMENT SURFACE TO REMA		1.50000	53,448.00	1.50000	53,448.00	1.50000	53,448.00
		Section Totals:	1	\$571,620.37		\$576,529.21		\$590,416.00
	Contract	Grand Totals:		\$658,559.13		\$676,628.09		745,556.56



10/01/2021

Tabulation of Bids

Page 7 of 7

Letting: 04211001 October 01, 2021

Call Order: 002

Contract:

E4V05

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.